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FOUNDATIONS OF ALGEBRA — UNIT 4 STUDY GUIDE

Learning Tar : Creating an Li H

1. Whatis the value of x in the following equation: 5x + 15 = 7x - 13
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2. Solve —12-5 =2 for x.
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3. What is the value %Fx in the equation 3(3x-5)=37?
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5. What is the value of x in the following equation? 5x - 13 = 15 + 7x
Gx-13= |5+7x
~ 5X -5X
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3x~@5)==5 é

3x-8x+20=5

. What is the value of x in the equation 3x - 4(2x - 5)=5?

- bhx+206 =5
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; Whatvalueofymakestheequation 12-(y+1)=3 +ytrue? X = 3 l
12-(y#+1) = 3+y
\2"\]’,\ = 3*"/
Wy = 3+Y
@=2y 4=1
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8. If 21 more than 3 times a number is -15, what is the number?

An+2t = 15
24 —21 Tn=-12]

9. The following formula can be used to convert a temperature in degrees Fahrenheit, F, to a
temperature in degrees Celsius, C.

S
C—;(F—32)

What temperature in degrees Fahrenheit is equal to 30 degrees Celsius? (Hint: Solve for F when

C=30)
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10. The length of a rectangle is 3 times its width, as shown below. The perimeter of the rectangle is
72 inches. If the value of x is increased by 2, what is the perimeter of the new rectangle, in

inches? 3x - L nAw ' nimeter:
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11. Consider the procedure used below to solve the given equation.

Given: 4(2x + 5) - (3x - 4) = 15 mﬂ m) =15
Step 1: 8x+5-3x+4 =24 X 91“’20"?})("4 9‘6 \/

Step 2:5x+9=24
Step3:5x=24-9
Step 4: -5x =15

e P L
Step 5: =

Step 6:x=-3

Which statement about the solution of the given equation is true?

The first mistake was made in Step 1.
B. The first mistake was made in Step 2.
C. The first mistake was made in Step 3.
D. The answer is correct.

Learning Target #2: Solving Linear Inequalities:

12. Solve and graph on a number Iine:4,1:+ 3x < 7‘ open, “4o the leFT
ax<lb Ao ?
X 3 | -2 -1 © v\ 2 3
ix<2 ‘
13. Solve and graph on a number line: 4 > —3x + 10 . |
-l o - )0 O?‘X‘)’bm hﬁh}c
i ¥ Flipsign —03-%X 4 W>
1 wguszyow ol ] <-—\ o vz 34
divide by =3 T2 X] or[x>2]
14. Solve and graph on a number line: 3(x + 2) < -3
PRt “e left
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15. For which values of x is the inequality 5x - 115 3x- 11true?  §X ~1| = 3% -~ I

-3x - X .
x<0 =
5 x>0 wx -4 = ~1|
C. xs-11 4 il | B
D. x2-11 <~ 0
Ax T =
Y z
16. What is the solution to the inequality -31 > 6x + ¥1? =
IS [FEX3

—42 > DX

17. What is the solution to the inequality -x < 4?

4
== g ¥ Flip sign becornse

2<10

| x<\b
Learning Target #3: Isolating a Variable

19. Solve for y: 8X—4y =16
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